JOLICO J-B T'OOL

PRINTED COPY IS

UNCONTROLLED
DIE WEAR PLATES STEEL OR BRONZE (VDI 3357)
0 D w 0 F W
R | s
- L — ] 0§
&6 o —
| _ 1
SCREW | T | X ni3| YH13
M8x25 | 9 9| 15
M12x25[13 | 135] 20
0 W
|
D
I A o I N
A | —& O O i
————— N B A R i
PATTERN (A) PATTERN (B) PATTERN (D) — 20 |-
STEEL WITH NO PLUGS | BRONZE ALLOY WITH PLUGS
W1 L I—jomico T chrvsLER JOLICO chrvsier | A | B | F | D | sHos | PATT.
NUMBER | CC NUMBER | NUMBER CC NUMBER
50 | 80 | J-810256 | 19-290-0070 | J-810356 | 19-290-0069 | 25 | 55 25 |M8x25| A
50 | 100 | J-810213 | 19-290-4204 | J-810313 | 19-290-3204 | 25 | 75 25 A
50 | 125 | J-810214 | 19-290-4205 | J-810314 | 19-290-3205 | 25 | 100 25 A
50 | 160 | J-810215 | 19-290-4206 | J-810315 | 19-290-3206 | 25 | 135 25 M12x25—¢
50 | 200 | J-810216 | 19-290-4208 | J-810316 | 19-290-3208 | 25 | 175 25 A
80 | 50 | J-810272 | 19-290-0068 | J-810372 | 19-290-0067 | 25 30 M8x25| D
80 | 80 | J-810273 | 19-290-0065 | J-810373 | 19-290-0066 | 25 | 55 40 A
80 | 100 | J-810217 | 19-290-4304 | J-810317 | 19-290-3304 | 25 | 75 20 A
80 | 125 | J-810218 | 19-290-4305 | J-810318 | 19-290-3305 | 25 | 100 40 |M12x25] A
80 | 160 | J-810219 | 19-290-4306 | J-810319 | 19-290-3306 | 25 | 135 40 A
80 | 200 | J-810220 | 19-290-4308 | J-810320 | 19-290-3308 | 25 | 175 40 A
100 | 50 | J-810204 | 19-290-4402 | J-810304 | 19-290-3402 | 25 50 D
100 80 J-810205 19 - 290 - 4403 J-810305 19 - 290 - 3403 40 50 D
100 | 100 | J-810200 | 19-290-4404 | J-810300 | 19-290-3404 | 25 | 75 50 A
100 | 125 | J-810201 | 19-290-4405 | J-810301 | 19-290-3405 | 25 | 100 5o |M12x25—4
100 | 160 | J-810202 | 19-290-4406 | J-810302 | 19-290-3406 | 25 | 135 50 A
100 | 200 | J-810203 | 19-290-4408 | J-810303 | 19-290-3408 | 25 | 175 50 A
125 | 50 | J-810274 | 19-290-0072 | J-810374 | 19-290-0071 | 25 75 1228 P
125 | 80 | J-810209 | 19-290-4503 | J-810309 | 19-290-3503 | 40 75 Xeorp
125 | 100 | J-810206 | 19-290-4504 | J-810306 | 19-290-3504 | 25 | 75 | 75 | 625 B
125 | 125 | J-810207 | 19-290-4505 | J-810307 | 19-290-3505 | 25 | 100 | 75 | 625] o . B
125 | 160 | J-810208 | 19-290-4506 | J-810308 | 19-290-3506 | 25 | 135 | 75 | 625 B
125 | 200 | J-810224 | 19-290-4508 | J-810324 | 19-290-3508 | 25 | 175 | 75 | 625 B
160 | 50 | 4-810275 | 19-290-0076 | J-810375 | 19-290-0075 | 25 110 i D
160 | 80 | J-810276 | 19-290-0074 | J-810376 | 19-290-0073 | 40 110 M12x25—5
160 | 100 | J-810210 | 19-290-4604 | J-810310 | 19-290-3604 | 25 | 75 | 110 | 80 B
160 | 125 | J-810211 | 19-290-4605 | J-810311 | 19-290-3605 | 25 | 100 | 110 | 80 | B
160 | 160 | J-810212 | 19-290-4606 | J-810312 | 19-290-3606 | 25 | 135 | 110 | 80 M 12¥25 ¢
160 | 200 | J-810233 | 19-290-4608 | J-810333 | 19-290-3608 | 25 | 175 | 110 | 80 B
PHONE (586) 739-5555 03-2020 CA-5




